Algebra 1
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Date:

Block:

7.1 Operations with Polynomials Review

What you need to Things to remember Examples
know & be able to
do
1. Classify Degree: 1. 5x-7 2.-18 aﬂ
polynomials x3: cubic g ' . 0
x2 quadratic (ﬁj}’w Bln onu aﬂ COY\AW 7)7 0
x: linear
#: constant
Number of Terms:
1> Monomidl 3. =27 + 8 +3x* 4. 4x2 +3x =10+ 2(X — 4)
: Binomial 2 g 8
3: Trinomial X + 8 He+3x - 10 +2X%
4+: Polynomial C& t-{x" § 5X -] 8
Make sure your Qmm %lﬂGTN . :
expressions are @ uﬂd.lmd@ nowruad
simplified first!
2. Add and -Line up like terms S. (4x+3x%-7)+(-6x2 + 4) 6. (4x —3x 2)+(9x2 F3x+-7)
Subtract
Polynomials -If subtracting, change 31 -1 ‘5 X Z"
subtraction sign to i (DX ¥ q "%l. SX A
addition and change g _ o0 pos +r 5
the signs of every term 3)( f '-'h( 5 5X ox
ﬂ‘, in the 2nd polynomial
) 3. Multiply -Distributive Method or ' 7. 5%(3x + 7) 8. fx- sﬂ} +6)
| i Met
polynomials Area Method ‘5)(2'_ 55)( X2*- LDX,.-(hL——5'-{
-xX = X2 < ' e
=Bkt
9. [x + 4)2 10. (6x + 3)(4x = )
X+y)(X+Y) _ 2
( 0t \ 24 % =H8x% +i2x-24
Y2 rdy o+ ‘-! il
2
7 - -
Y%+ Bx Fl0 ZH% "~ 3Ly -24

4.Areq & Perimeter

Perimeter: Add up all
outside sides

11. Find the area & perimeter of the
3 ;f)_ll-g)wmg:

Recfong:::cl;\ =lxw 2% +|4 2x+ 6
Triangle: A = %bh T
= DAL ¥ 3%-L + LXrlo k2X HG
™ P=10x +8
s = (SX' jiix-\-l‘,)
- R—- lox® +1Rx—qx -12

ry

%. The area of a rectangle is
2r 7x + 6. What is the perimeter of
this rectangle?

DO not
oompwrﬁ\.

A= Lx*+\4x-12
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7.1 Learning Goal - Operations with Polynomials

Name:
1. Simplify. 7
-3+ DERTHTD  RIRE
it S’ Sk
A x-6 B. —-x+8
x . - 57\ - \0
@-5X -6 D. 22—-x+8
2. The sum of two binomials is 522 — 6x. If one of the binomials
is 3x2 — 2x, what is the other binomial?
7
2%~4x B. 22-8x C 82+4x D. 82-8«
2 2.2
32-2x) + (762 3= 5% x
8.
3-|— ? = 5 -2+7=2-1
?‘-Z.x 2 ? -y x
3. Simplify: (2 =5+ DF S FIxgl) a
X 5x +4
A -52-2r43 B. —4?—gx+ LOX-=OX M|
: N
@-411—&x+5 D. -se-ge4s ~OK-BRHS
4. Which of the following is equivalent to the expression below?
(7Ta* +5a+3)+ (-3a* +2a—4) = ‘-}ql..."jq -]
+7a—l B. 4a+7a+1
C. —4a*+7a-1 D. —4a®+7a+]
3] 9.
5. Which polynomial is equivalent to (2y —3)2? ( E‘d -3 iz! 1 -
L
A 47 +6y=9 4,v2—12.v+9 "\3"-99—{19 +9
C. 4249 D. 42-9 q:j'&‘_‘%, 9
6.  Which of the following is equivalent to the expression below?
Coon XE-3%+10x -15
- 2x*+Ix 15
2x2+7x—15 B. 2¢-Tx~15
C. 32+7x—15 D. 32-7x-15
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@wﬂ +48w+ 10 B.

Date:

What is the perimeter of the figure shown below, which is not
drawn to scale?

x+13

3x
3x+2 8

X+5

A. 5x+33 B. 5°+33 x+30 D. 8x*+30
P=Xt13+3xr2 T XAD 121 B3y

P= 8% + 30

A rectangle and expressions representing its dimensions, in
inches, are shown below.

A=l B)(n2)
A= N%-3n+5-15
3 2
A=N"+2n-15

A

{ n+is i

Which of the following represents the area, in square inches, of

the rectangle?
2 +2n—15

C. i2=21-15 D. n*-8n—15

A ?+81-15

A rectangular lot with length 8w + 2 and width of w+ 5 contains

a swimming pool in the shape of a smaller rectangle with a

length of 3w and width w—2.
ﬂ - (B\U "Q-XW *5)

Sw+2
B= SwZ s How 2wl
w+5 = Bw2ed2uwic

Loakiuil
What is the expression for the shaded area around the swimming

pool? p= 3wl(w-2)
A= BN'Z‘ bw

@Q ..LiH'\L!"‘\‘
(Bwtrd2w 410} 33w

Bw? ¥ 42w $10
= dar rbw

Bw? 48w ¢10

8w? + 42w + 10

C. 3uw?—6w D. 5w? 436w+ 10
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